

Name of College - S-S-College J-1349.

Dept - Mathematics

Topic - Method For Finding
the oblique Asymptote

Class - B-sc

Date - 12-07-2021 BY - Samrendra Kumar
13-07-2021

Method For Finding ^{oblique} the Asymptotes

for let the Asymptote be $y = mx + c$

let the Equation of the Curve be

$$f_n(x, y) + f_{n-1}(x, y) + \dots + f_1(x, y) + k = 0$$

Where $f_n(x, y)$ denotes the Term of
highest degree of the Curve.

STEP I - Put $x = 1$, $y = m$ in

$$f_n(1, m), f_{n-1}(1, m), \dots, f_1(1, m)$$

STEP II - Find all the real roots
of $f_n(m) = 0$

STEP III - If m is non-repeated
root, then corresponding value of
 c is given by

$$c = \frac{f_{n-1}(m)}{f_n'(m)} \quad [f_n'(m) \neq 0]$$

If $f_n'(m) = 0$ then there is no.

Asymptote to the Curve corresponding to this value of m .

STEP IV — If m is repeated root occurring twice, then the two values of C are given by

$$\frac{C^2}{L^2} g_n''(m) + \frac{C}{L} g_{n-1}'(m) + g_{n-2}^{(m)} = 0$$

$(g_n''(m) \neq 0)$

STEP V — The Asymptote of the Curve is

$$Y = mx + C$$

Ex: → Find all the Asymptotes of the Curve

$$x^3 - x^2y - xy^2 + y^3 + 2x^2 - 4y^2 + 2xy + x + y + 1 = 0$$

Solution → In the Curve the highest degree term of x is x^3 and its coefficient is 1

Equating to zero we get

$$1 = 0 \text{ which is absurd}$$

This Curve has no Asymptote parallel to x -axis.

Also the coefficient of highest-degree term of y is 1

Equating to zero

$$1 = 0 \text{ is also absurd}$$

⇒ This Curve has no Asymptote parallel to y -axis.

Let's check whether

the curve has any Asymptotes
parallel to x -axis or parallel to
 y -axis.

Now for finding oblique Asymptotes
i.e. Asymptotes which are neither
parallel to x -axis nor parallel to y -axis

$$\text{Here } f_3(x, y) = x^3 - x^2y + y^3 - xy^2$$

$$f_2(x, y) = 2x^2 - 4y^2 + 2xy$$

$$f_1(x, y) = x + y$$

Let the Asymptote be given by

$$y = mx + c$$

STEP 1 Put $x=1$, $m=y$ in $f_3(x, y)$

$$\therefore f_3(m) = 1 - m + m^3 - m^2$$

$$f_2(m) = 2 - 4m^2 + 2m$$

$$f_1(m) = 1 + m$$

STEP 2 $\rightarrow$ The values of m are obtained
Now by $f_3(m) = 0$

$$\Rightarrow m^3 - m^2 - m + 1 = 0$$

$$\Rightarrow m^2(m-1) - (m-1) = 0$$

$$\Rightarrow (m-1)(m^2 - 1) = 0 \Rightarrow m = \pm 1$$

Here $m = 1, 1, -1$

Here $m = -1$ is a non-repeated root and
 $m = 1$ is a repeated root.

STEP III for $m = -1$ (non-repeated root)
the corresponding value of C is given by.

$$C g_3'(m) + g_2(m) = 0$$

here $g_3'(m) = 3m^2 - 2m - 1$
 $\Rightarrow 3m^2 - 2m - 1 = 0$

$$\therefore C (3m^2 - 2m - 1) + (2 + 2m - 4m^2) = 0$$

$$\therefore C (3m^2 - 2m - 1) = 4m^2 - 2m - 2$$

$$\Rightarrow C = \frac{4m^2 - 2m - 2}{3m^2 - 2m - 1} \quad \text{put } m = -1$$

$$= \frac{4 + 2 - 2}{3 + 2 - 1} = \frac{4}{4} = 1$$

Thus for $m = -1$ $C = 1$

STEP 4 $\rightarrow$ for $m = 1$ (Repeated Root),
the value of C is given by

$$\frac{C^2}{1^2} g_3''(m) + \frac{C}{1} g_2'(m) + g_1(m) = 0$$

$$\therefore g_3(m) = m^3 - m^2 - m + 1 = 0 \quad g_3'(m) = 3m^2 - 2m - 1$$

$$g_2(m) = 2 - 4m^2 + 2m \quad g_2'(m) = 6m - 2$$

Putting these values in

$$\frac{c^2}{12} g_3''(m) + \frac{c}{11} g_2''(m) + g_1(m) = 0$$

$$\Rightarrow \frac{c^2}{12} (6m-2) + \frac{c}{11} (2-8m) + m+1 = 0$$

put $m=1$

$$\frac{c^2}{12} \times 4 + \frac{c}{11} (-6) + 2 = 0$$

$$2c^2 - 6c + 2 = 0$$

$$c^2 - 3c + 1 = 0$$

$$\therefore c = \frac{3 \pm \sqrt{9-4}}{2}$$

$$= \frac{3 \pm \sqrt{5}}{2}$$

When $m=1$ $c = \frac{3+\sqrt{5}}{2}$

$m=1$ $c = \frac{3-\sqrt{5}}{2}$

$m=-1$ $c = 1$

$\therefore$ Required Asymptotes are

$$y = -x + 1 \Rightarrow x - y + 1 = 0$$

$$y = 1 \cdot x + \frac{3+\sqrt{5}}{2}$$

$$x - 2y + 3 + \sqrt{5} = 0$$

$$y = 1 \cdot x + \frac{3-\sqrt{5}}{2}$$

$$x - 2y - 3 + \sqrt{5} = 0$$

Thus Required Asymptotes are

$$x+y-1=0$$

$$\begin{array}{l} 2(y-x) = \frac{3+\sqrt{5}}{2} \\ 2(y-x) = \frac{3-\sqrt{5}}{2} \end{array}$$

Ex:-> Find the Asymptotes of the curve.

$$y^3 + x^2y + 2xy^2 - y + 1 = 0$$

Solution :-> Equation of the Curve.

$$y^3 + x^2y + 2xy^2 - y + 1 = 0$$

for Asymptotes parallel to y -axis
equaling the co-efficient of $y^3 = 0$
 $1 = 0$ which is Absurd

$\Rightarrow$ No any Asymptotes is parallel to y -axis.

for Asymptotes parallel to x -axis
Equating to zero the co-efficient of x
Here equation of x^2 is $\Rightarrow$

$\Rightarrow y = 0 \Rightarrow y=0$ is an asymptote parallel to x -axis.

~~Put $x+y=m$ in the equation of curve~~

~~$$m^3 + m + 2m^2 - m + 1 = 0$$~~

~~$$\Rightarrow m^3 + 2m^2 + 1 = 0$$~~

for oblique Asymptotes

$$f_3(x, y) = y^3 + x^2y + 2xy^2$$

$$f_2(x, y) = 0$$

$$f_1(x, y) = -y$$

$\therefore$ Putting $x=1, y=m$ in $f_3(x, y)$

$$f_3(m) = m^3 + m + 2m^2 \quad \therefore f_3'(m) = 3m^2 + 4m + 1$$

$$f_2(m) = 0$$

$$f_1(m) = -m.$$

$$\text{Now } f_3'(m) = 0$$

$$3m^2 + 4m + 1 = 0$$

The values of m are obtained by solving the equation

$$f_3(m) = 0$$

$$m^3 + 2m^2 + m = 0$$

$$\Rightarrow m(m^2 + 2m + 1) = 0$$

$$\Rightarrow m = 0 \quad m = -1, -1$$

for $m=0$
for (non-repeating value), the value of C is given by

$$C = \frac{f_2(m)}{f_1'(m)} = \frac{0}{3m^2 + 4m + 1} = 0$$

$\therefore Y = 0 \cdot X + 0 \Rightarrow Y = 0$ is the Asymptote.

for $m = -1, 4$ (Repeated root)

$$\frac{C^2}{12} g_2''(m) + \frac{C}{4} g_2(m) + g_1(m) = 0$$

$$\Rightarrow \frac{C^2}{12} (6m+4) + 0 - m = 0$$

$$C^2 (3m+2) - m = 0$$

$$\therefore C^2 = \frac{m}{3m+2} = \frac{-1}{-1} = 1$$

$$\therefore C = \pm 1$$

~~Asymptote~~ Asymptote

$$y = -x + 1$$

$$\text{and } y = -x - 1$$

$$x + y + 1 = 0$$

$$\Rightarrow x + y - 1 = 0$$

Thus Required Asymptotes are

$$x + y - 1 = 0 \quad \left| \text{oblique Asymptotes} \right.$$

$$x + y + 1 = 0$$

$$y = 0$$

Asymptotes parallel to x -axis